

### KARACHI WATER & SEWERAGE BOARD

### OFFICE OF THE CHIEF ENGINEER (IP&D)

#### **BID EVALUATION REPORT**

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.24178 I.D No/2015
3	Tender Description/Name of Work/Item:	REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT ON DUMLOTTEE ROAD AND CLEANING OF NEW DUMLOTTEE CONDUIT
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	2 Nos
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	<u>01 No</u>
11	Financial Bid Opening Date:	01-06-2015

#### 12 **BID EVALUATION REPORT**

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE/ REJECTION	REMARKS
01	M/s.Hamza Associates	Rs.9,80,212/-	1 <sup>st</sup> Lowest	@ 0.062% Below	Pay order & required documents are attached. P.O # 12586012 dt:25-05-2015 Rs.20,000/- from HBL Sindh Secretariat Branch Karachi	Substantially Responsive
02	M/s. Behzad Enterprises	Rs.10,05,898/-		@ 2.556% Above	Pay order not attached but other documents are attached.	Un Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.Hamza Associates declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Wasif Akhtar) Accounts Officer (W/D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh)

Superintending Engineer (KMC)

Member

(Zafar Ali Palijo) Chief Engineer (W/D) Member

(Abdul Kahin Khatti Chief Engineer (IPD)

Convener

#### **COMPARATIVE STATEMENT**

## Name of Work: REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT ON DUMLOTTEE ROAD AND CLEANING OF NEW DUMLOTTEE CONDUIT

Item	Description of Work			Estimated	Cost		100000000000000000000000000000000000000	Hamza ociates
No		Quant	tity	Rate	Per	Amount	Rate	Amount
1	Excavation of foundation of Building bridge and other structure i/c deglleling, dressing, re-filling, around structure with excavated earth watering and ramming lead upto 5'ft.	1055.00	Cft	3176.25	%0Cft	3,350.94	3175.00	3,349.63
2	P/L Cement concrete brick or stone blast 1 1/2", 2" gauge 1:4:8 Ratio.	351.75	Cft	9416.28	%Cft	33,121.76	9415.00	33,117.26
3	P/L C.C. 1:3:6 Solid Block masonry set in 1:6 Cement sand mortar in plinth and foundation i/c rocking out jointing etc.	1764.00	Cft	14268.53	%Cft	251,696.87	14265.00	251,634.60
4	P/L Cement sand plaster 1:6 (1/2" thick) upto 12' height.	1764.00	Cft	2206.60	%Cft	38,924.42	2200.00	38,808.00
5	Feb. of mild steel reinforcement for cement concrete i/c cutting, bedding, laying in position.	12.00	Cwt	5001.70	P/Cwt	60,020.40	5000.00	60,000.00
6	Reinforcement concrete work i/c all labours and materials except the cost of steel reinforcement.  R.C Work in roof slab beam columns, rafts, lintels and other structure number laid in situ or precast laid in position in complete in all respect Ratio (1:24) 90  Lbs cement sand 4Cft shingle 1/8" to 1/4" gauge (1:2:4).		Cft	337.00	P/Cft	71,949.50	335.00	71,522.50
7	P/L 1" thick C.C. tapping C.C 1:2:4 i/c surface finishing and dividing into panles (2" thick).	483.00	Cft	3275.50	%Cft	15,820.67	3275.00	15,818.25
8	P/F C.I. cover and pressure 24"x24" (65 Kg.)	14.00	Nos	10300.00	Each	144,200.00	10300.00	144,200.00
9	Hire charges of excavator i/c cost of fuel, wages of driver, assistant, etc complete as directed by Engineer Incahrge (Wheel Excavator).	96.00	Hrs	800.00	P/Hrs	76,800.00	800.00	76,800.00
10	Cutting and removing trees within a distance of 10 Ft. a) Upto 2.5 ft girth	55.00	Nos	535.43	Each	29,448.65	535.00	29,425.00
	b) Upto 2.6ft to 6 ft girth	20.00	Nos	1043.63	Each	20,872.60	1040.00	20,800.00
11	Dismantling of cement concrete reinforced separating reinforcement concrete cleaning straightening the same.	198.00	Cft	5445.00	%Cft	10,781.10	5450.00	10,791.00
12	Uprotting stamp and removing with in 100 feet, from 2' to 6' girth.	80.00	Nos	605.00	Each	48,400.00	600.00	48,000.00
13	Cleaning of Dumlottee conduit for 02 side x 50 = 100 Rft.	3500.00	Rft	17.38	P/Rft	60,830.00	17.50	61,250.00

c Alash Who

#### Name of Work: REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT ON DUMLOTTEE ROAD AND CLEANING OF NEW DUMLOTTEE CONDUIT

Item No	Description of Work		Estimated Cost					M/s.Hamza Associates	
			Quantity		Per	Amount	Rate	Amount	
	Precast reinforced cement concrete on columns beams, lentels stair cases sheeme etc Ratio 1:2:4.	198.00	Cft	309.78	P/Cft	61,336.44	310.00	61,380.00	
	Errection and fixing in position precaset cement concrete or stone slab in roof or lentels etc lift upto feet including all charges.	198.00	Cft	41.77	P/Cft	8,270.46	42.00	8,316.00	
	Full hire charges of pumping set per day i/c wages of driver assistant, fuel and electric energy platform required for placing of pumps etc. at lower depth with suction and delivery pipe for pumping of water found at various depth from trenches i/c the cost of errection and dismantling after completion job.			1500.00	D/J	45,000,00	1500.00	45 000 00	
		30.00	days	1500.00	P/day	45,000.00	1500.00	45,000.00	
	TOTAL QUOTED / CORRECTED COST					980,824		980,212	

(Wasif Akhtar) Accounts Officer (W/D) Member / Secretary

(Saif-ul-Haque) Addl. Director Internal Audit KMC - Member

(Maqsord Ahmed Shaikh) Superintending Engineer (K.M.C) Member

(Zafar Ali Palijo) Chief Engineer (W/D)

Member

(Abdul Rahim Khatti) Chief Engineer (IPD) Convener

# ATTENDENCE OF CONTRACTORS PARTICIPATED IN THE BID

**RULE 17(I) OF SPPRA, 2010** 

SUBJECT: REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT ON

DUMLOTTEE ROAD AND CLEANING OF NEW DUMLOTTEE CONDUIT

SPPRA'S SR.NO: <u>24178</u>

ESTIMATED COST: Rs.9,80,824/-

DATE OF OPENING: 01-06-2015 at 2:30 pm

S.NO.	NAME OF CONTRACTOR / PARTICIPANT	DATE	SIGNATURE
1.	m/s. HAMPLA ASSOCIAGE	01/8/2015	Hanze.
2	m/s. HAMPLA ASSOCIAGE	01/8/2015	791
	<u> </u>	1	

#### NIT Sr. No. SPPRA Serial No.24178

Method of Procurement: Single Stage Single Envelope.

Name of Work: REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT

ON DUMLOTTEE ROAD AND CLEANING OF NEW DUMLOTTEE

CONDUIT

#### MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 01-06-2015 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

#### (Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
  - M/s.Hamza Associates
  - ii. M/s.Behzad Enterprises
- The bids were opened at 2:30 P.M in the presence of the above mentioned 3. participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date			
01	M/s.Hamza Associates	Rs.9,80,211/-	Rs.20,000/-	P.O # 12586012 dt:25-05-2015 from HBL Sindh Secretariat Branch Karachi			
02	M/s. Behzad Enterprises	Rs.10,05,898/-		Pay Order not Attached			

- 4. The bids do not contain any over-writing or cutting.
- The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

Accounts Officer (W/D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zafar Ali Palijo) Chief Engineer (W/D)

Member

(Abdul R Chief Engineer (IPD)

Convener

NIT Sr. No. SPPRA Serial No.24178

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

REPAIR OF DAMAGED CHAMBER OF DUMLOTTEE CONDUIT

ON DUMLOTTEE ROAD AND CLEANING OF NEW

DUMLOTTEE CONDUIT

Date of Opening:

01-06-2015

#### BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Name			
S. No.	Eligibility / Qualification Criteria	M/s.Hamza Associates	M/s.Behzad Enterprises		
1.	Registration with PEC (if applicable)	N/A	N/A		
2.	NTN	Yes	Yes		
3.	Sales Tax Registration	N/A	N/A		
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes		
	Qualification Criteria:				
5.	Minimum three years' experience of relevant field.	Yes	Yes		
6.	Turnover of at least last three years	Yes	Yes		
7.	Required Bid Security is attached.	Yes	No		
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes		
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A		
10.	Qualified/ disqualified	Qualified	- Disqualified		

(Wasif Akhtar) Accounts Officer (W/D) Member / Secretary (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh)
Superintending Engineer (KMC)
Member

(Zafar Ali Palijo) Chief Engineer (W/D) Member (Abdul Rahim Khatti) Chief Engineer (IPD) Convener